Input:
Input Points =  100
Show levels = 5
Profit Reset at  (points)= 300
Initial Lot size: 0.01
Lot multiplier: 1.3
Lot multiplier type: Single/ Both
Spread below points: 15
Magic number: 123456
Comment: 

Procedure:
Input Points :100 
Means, when load the EA it should Take Current Price +100 points and current price -100 points 
Example: AUDJPY current price 94.500
Hence it should take 94.600 and 94.400
Show levels = 5 ( Maximum upto 8 levels)
 From the above example it should show 5 levels of upper side and 5 levels lower side ( show by Horizontal lines)
 Uplevel 1:94.600
Uplevel 2:94.700
Uplevel 3:94.800
Uplevel 4:94.900
Uplevel 5:95.000

Low level1:94.400
Low level2:94.300
Low level3:94.200
Low level4:94.100
Low level5:94.000
When the price touches uplevel open the Buy Trade, when price touches Low level open the sell trade.
Keep both the trades till orders gets closed by profit 
Profit reset at (points)= 300
When the net profit reached 300 points close all the open positions.
order frequency:
Buy opens at 94.600, then next buy should  be 94.700, 94.800,94.900,etc.
If sell opens at 94.400, then next sell should be 94.300,94.200,94.100, etc.
Same price should not open multiple orders
Lot multiplier type: Single/ Both
If Single ( lot Size for Buy and Sell Should be calculated Separately) 
	1st order open at lot size =1
                2nd order= previous open buy orders *1.3=1*1.3=1.3=1
                3 rd order = previous open buy orders*1.3=2*1.3=2.6=3 lots
                4th order    = previous open buy orders (3+1+1)*1.3=5*1.3=6.5= 7 lots

If Both:
1 st open buy order lot size: 1
2 nd open sell order lot size = previous open orders( Including Buy+Sell orders)*1.3= *1.3=1
3rd open buy order lot size= previous open orders( Including Buy+Sell orders)*1.3= 2*1.3 = 2.6=3 
Note:
1. When ever new order opens check the net profit, if net profit > 0 points close all the trades and open a fresh position.
2. When the orders get closed due to net profit, ( Check whether due to buy orders or sell orders profit )
If due to buy orders( Buy orders profit> sell orders profit) keep the uplevels, modify only low level lines. ( it should be refreshed and the Upline value should be updated as Uplevel1)
If due to sell orders (sell orders profit> buy orders profit) keep the low levels. Modify only uplevels lines. ( it should be refreshed and the Lowline value should be updated as lowlevel1)
3. Only for first order we need to fix +100 and -100 values after that it should follow the point no 2 ( Previous point)  to execute all trades.
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